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Class: 4Cp (S,D,E,F&G)
Worksheet (3)

Objective/s: Be able to add & subtract four-digit numbers,
Solve multistep word problem.

A)lna hospital there are 196 doctors,

1,772 nurses and 830 supporting staff.
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1) What is the @_ number of[s_tM_gr_s}employed by the hospital?
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2) On a Saturday afternoon, 54 Q&grrs d 597 nurses are on duy in the
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3) On Sunday 90 doctors, 980 nurses a,‘nd l§5;¥3‘__§upporting staff were
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present. How many supporting staff were not at the hospital?

s v i AT PeEROeL
c Sy -/‘\"_ =
- s Cambridge Assessment blx' ;8, =5, ) i
ik fr’ﬂ P riemtonitiain  edexcel i = W b =
-,

Cambridge Inernational Schocl

L% CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

T

_x.

&

s3%e B e
3T 29 \\,Qq 10O Qz&uu\ﬂlr

1

3)

CRGTAR S, T
aLQz¥qu]>(g£x oo yHiO ¥ ‘\S’Tﬁe‘

B) A stadium has 15,700 seats, 2750 are premium seats. And 980 VIp

seats. The rest are regular seats.

How many regular seats are there?

)
3) If A total of 15,382 tickets were sold? How many empty seats there wil|

be? Round your answer to the nearest 100 seats.
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C) Fill in the blanks with the suitable operation and or missing number.
1R 3 - 182=101 . 2) 452+lo 18 =470
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) Write the MISsIng number in the box to make the difference correct

1) 47[g]- 124 = 351 2) [F]59-298 =461
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E) Write the missing number in the blank to make the sum correct.
1)3\2+q95=13o7 2)459+75_—+=1226
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